' © B ani AN } -
@ ﬂia A4t DY IIE B
b EEGE hxit

1 1
Z 488 x=+11= =TI xZ=11=
3 6

2,1 2 1_ 1+77X1_7_

5 3 5 3 2
1 2 2 1 1 3
—+25x - +5= —— =X =+ - =
2 3 3 4 3 4
l+l l l: l+16xl—4=
2 2 3 6
2,1 1. 1_ 1_35X1;7_

5 4 6 6 2 3

www.snowmath.com



https://www.snowmath.com

: = D) . -
@ ﬁia AR T
44 H - AL

1 g 2 I I 5

288 xo1l= =22 L T x sl = (-2

“ 3 3“3 3 TG %)

2.1 2 1.3 L, 13
573 573753 2 1 TR
1 2 3 5 201 1 3 4 1
S s xZa5=22 232 VL AU S
2 3 6 "6 3 434 3 3

1 1

ror 1 1.1 D extogad_51
272737 % 2 2 D)

2 1 1 1 7 I I 7 1
VT L 35X 7= (—l)= (-1~
5727676 120 2 3 (g =Clg)

www.snowmath.com



https://www.snowmath.com

